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Show the insertion of the keys 12, 5, 88, 128, 17, 10, 33, 45, 27, 14, 64, 129 into a hash table with collision
resolved by chaining. Let the table have 7 slots, and let the hash function be h(k) =k mod 7. Show the j’j
insertion of the above keys into a table with 13 slots (the hash function should be k(k) = k mod 13) and
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collision resolved by linear probing. (10%) Ef:
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In each circuit below, the rectangles represent the same type of gate. Based on the input and output
information given, identify whether the gate involved is an AND, OR, or XOR. (9%)

A. B.
10— e
? — 0 Wr = (ol 1 1
0> 1>
15— ___
1 ni—> 0
13 ?,_I
§ AR M M & M %
r M & R St LR ( % %)

;Hiﬂ AR T 3R 0| SN I SR PR o B ) R R N ey (An R MRk St ) e
2. W B 08-SE A8y Me o 1A B ED B E
B R T T I S 8 T T8 )1 ol N O G Y B A



0L BE RN BB R A A AR

i

I'-Ll l H s
F R A B SR 1Y T A R T &ZIH ?j ¥ B

. Use the graph shown below to answer the following questions (12%)

(A) Show this graph's adjacency list,
(B) Show this graph's adjacency matrix.
(C) Use the Dijkstra's Algorithm (o show the shortest path from node 1 to all other nodes in this graph,
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